3. B.A.B.Ed. / B.Sc.B.Ed. (Secondary/ Middle) Program 2025

Duration No. of Questions

Sec-1 Reasoning Ability 2 hrs. 50 Max.100
Sec-2 Teaching Aptitude Educational Awarness 50
Note : Each question is of one mark. Wrong answers carry negative marks (-% for

every wrong answer)

Part-l : Reasoning Ability

The objective of this part is to assess the reasoning ability of the applicant, assessed through solving
multiple-choice problems related to verbal reasoning, non-verbal reasoning and analytical reasoning

A) Verbal Reasoning: Analogy ( letter, words, and numbers), Series Completion ( Letter,
Number), Classification (word, Number)

B) Non-Verbal Reasoning: Figure Analogy (Rotation, Dislocation and Interchange of Figures),
Figure Series, Figures Counting, Figure Classification

C) Analytical Reasoning: Venn Diagram, Data Interpretation

Part-Il : Teaching Aptitude Educational Awarness

The main objective of this part is to assess the aptitude of the candidates towards teaching as a
profession.
A) General Awareness about School Education : Education: Aims and Forms (Formal,
Informal & Non formal), Samagra Shiksha, RTE Act 2009, PM-Poshan, Digital Initiatives,
National Education Policy 2020
B) Teaching Aptitude : Teaching as a profession, Factors affecting teaching, Learner
characteristics, Teacher-Student Interaction, Teacher-Student Behaviour, Different ways of
teaching, Teaching Aids (Audio, Visual, audio-Visual), Classroom management, Communication
in educational settings
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Sample Questions

Part-1 : Reasoning Ability
1. ‘Medicine’ is related to ‘patient’ in the same way as ‘Education’ is related to-

(@) Teacher (b) Student (c) School (d) Learning
o yopm Fafereen =1 wvare It 2 & seft v fonen = warer -
(v) forers (&) B (&) w=Ha (Z) drem
2. What should come in the place of question mark in the following series?
1,4,9,25,36,?
(@) 48 (b) 52 (c) 49 (d) 56
frefeted gaen & searas o & o W wn s e 2
1,4,9,25,36?
(Q) 48 (&) 52 (F1) 49 (2) s6
3.  Select the one which is different from the other three -
(@) Agra (b) Bhilai (C) Jamshedpur (D) Bokaro
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4. Directions: Fill the blank in the following series.
JAK, KBL, LCM, MDN,
A. OEP B. NEO C. MEN D. PFQ
e+ Fretferfi sjaen  fo T 91 9 ¥
JAK, KBL, LCM, MDN, __ |
(T) OEP (sf) NEO (%) MEN (¥1) PFQ

5. Directions: Figure (a) and (b) are related in a particular way or manner. Establish the same relation-
ship between (c) and (d) choosing from five alternatives.
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Alok walked 30 metres towards East and took a right turn and walked 40 metres. He again took a
right turn and walked 50 metres. Towards which direction is he from his starting point?

A.South B. West C. South-East  D. South-West
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In a certain code, TEACHER is written as VGCEJGT. How is CHILDREN written in that code?
e fifira T oo § TEACHER %1 VGCEJGT feren s ¥ | 5t e # seeerss ohi hdl e T & 2
A. EJKNEGTP B. EGKNFITP C. EJKNFGTO D. EJKNFTGP

(1) EJKNEGTP (&) EGKNFITP (¥) EJKNFGTO (%) EJKNFTGP

Which of the answer figures is a rotation of the Question Figure ?
HF IR 3T ¥ S w1 At sEda e 2

Question Figure - o'%

Answer Flgure

A (D) B (a’t) C (ﬁt) D (ét)

In a class of 36 students Ravi’s rank from the top is 12. Radhika ranks three places above Ravi.
What is Radhika’s rank from the bottom?
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What should come in the place of question mark?

YeaTEeh e & T I 3 S7 =ifeu ?

EIGHTY: GIEYTH:: OUTPUT: ?

A. (T) UTOPTU  B. (&) UOTUPT C. (sft) TUOUTP D. (&) TUOTUP

Part-Il : Teaching Aptitude Educational Awarness

1

It is proposed in National Education Policy 2020 that the 10+2 structure of education may be
replaced with.........

(a). 3+4+4+5 (b) 5+3+3+4 (c) 4+3+3+5 (d) 5+4+3+3
T fonen =i 2020 H 10+2 1 HerF TEAH oo q g 1 TE ¥
(#) 3+4+4+5 (&) 5+3+3+4 (9) 4+3+3+5 (§) 5+4+3+3

If you see that some people are misbehaving your colleague with whom you do not share a good
relation. What would you do?

(a) Make the antisocial people run away, with the help of others (b) Will observe from a distance
(c) Attempt to stop the fight (d) Move without paying attention
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Which one of the following is appropriate in respect of teacher-student relationship?

(A) Very informal and intimate (B) Limited to classroom only

(C) Cordial and respectful (D) Indifferent
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Through what communication skills can a teacher make his teaching effective?

(A) reading skills (B) Hearing skills (C) writing skills (D) All of the above

T e fofm w0 ivrel & gry o719 foreqor =) gt s AT S 2
(&) IrF IR (9) ST HITA (7)) 9 I (T) SHIF Tt



Classroom communication must be-

(A) Teacher centric (B) Student centric (C) Black-board centric (D) Textbook centric
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Interaction inside the classroom should generate

(A) Argument (B) Information (C) Ideas (D) Controversy
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A teacher will become an effective communicator if

(a) He uses instructional facilities.

(b) He helps students get meaning out of what he teaches.

(c) He asks question in between teaching.

(d) He helps students get correct answer to the questions on the topic.
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In a lively classroom situation, there is likely to be.

(A) Occasional roars of laughter (B) Complete silence

(C) Frequent teacher-student dialogue (D) Loud discussion among students
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The use of teaching aids by teacher is justified on the grounds of-
(A) Attracting student’s attention in the class room.

(B) Minimizing indiscipline problems in the classroom.

(C) Optimizing learning outcomes of students.

(D) Effective engagement of students in learning tasks.
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Effectiveness of teaching has to be judged in terms of

(A) Course coverage (B) Students’ interest

(C) Learning outcomes of students (D) Use of teaching aids in the classroom
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Answer Key

Part-I : Reasoning Ability

1.B 2 A 4B - 5B 6D 1.0 80 8B 10D

Part-Il : Teaching Aptitude Educational Awarness

1.B 2C 3C 4D BB 6.€ TB 8cCc 9D 10.C



